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£1 KR (°C) __
] o B —— | mlElEEE (H24.10.3) N
FEMSE | ZRIS | EOE HS54 TR LRSI L e e | BIEIEDZE | TISET
Rl HIGFEH X oH—#E
Om 2412 2410 24.10 23.52 24.11 25.56 A 145 24.24
2m 24.35 24.28 24.12 24.28 24.25 25.58 A 133 24.77
5m 24.48 24.33 24.33 2452 24.38 25.72 A 134 24.68
10m 24.42 24.36 24.42 24.49 24.40 25.94 A 154 -
| B-1m 24.37 24.32 24.44 24.50 24.38 25.83 A 145 24.53
®2 55 ___
: o B el | mlElEEE (H24.10.3) N
AEE | 2RI/ | EOE 1S54 TR LIS TEIN] e e | BIEIEDZE | TISET
L] HIGFE X &E— g
Om 33.11 33.29 33.10 29.80 33.17 32.72 0.45 30.56
2m 33.74 33.74 33.48 32.82 33.65 32.79 0.87 33.67
5m 33.93 33.84 33.81 33.75 33.86 32.99 0.87 33.89
10m 33.94 33.91 33.91 33.90 33.92 33.29 0.63 -
B-1m 33.95 33.96 33.96 33.99 33.96 33.48 0.48 33.93
3 j B (mg/1) _
i o “_ swmie|. | milEEAE (H24.10.3)
FEMSE | 2RI | EOE HS54 TR LA TEN] e e | BIEIEDZE | TISAET
L] HIGFE X &E— g
Om 6.51 6.17 5.91 7.13 6.20 6.46 A 0.26 6.61
2m 6.38 553 5.89 6.89 5.93 6.37 A 044 5.99
5m 5.65 5.42 5.62 6.54 5.56 5.96 A 0.39 5.85
10m 5.42 5.60 5.32 6.16 5.45 5.55 A 011 -
B-1m 4.88 5.67 5.42 5.86 5.32 5.19 0.13 5.79
XEZERIA-EDE -HSIDFEHIE
F4 KFE-BEE (m)
Bama | muoq | Bon | A5 [FEPRR Gy
7KiZE 17.1 24.6 15.2 15.7 10.5
B 4.9 4.0 4.2 3.5 2.5
BT [51:%5 BA 3.3 3.1 3.9 3.0 2.6
£S5 TS0 (cells/ml)
IYAATA=TL | Snnprs LR e =1
AR (fi/j (h.j;:j-r_;_;j JOrR Jé—»r—'ﬁL\ = J;Jl:;g@
Om 1,650 6 8 0 0
EEJA 2m 1,440 9 4 1 0
5m 1,390 4 0 1 0
Om 1,210 15 6 3 0
ENE 2m 330 20 2 0 0
5m 220 3 1 2 0
Om 510 2 1 1 0
139 2m 950 4 0 0 1
5m 620 5 1 0 1
b sk 1 Om 16 0 1 0 0
# ”f,\%ﬁ 2 om 5 1 3 0 0
i 5m 15 2 2 0 0
Om 12 2 1 0 0
Ltk L] 2m 0 0 1 0 0
5m 0 0 1 0 0




